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<keybi nd key="S- C ni >
<acti on name="Execute">
<conmmand>t oucht oggl e. sh</ command>
</ action>
</ keybi nd>

<keybi nd key="S-C-sem col on" >
<action nane="Execute">
<command>dnenu_litt. sh</ command>
</ action>
</ keybi nd>

<keybi nd key="S- C- peri od">
<acti on nane="ShowMenu" >
<menu>cl i ent-I|ist-conbi ned- nenu</ nenu>
</ action>
</ keybi nd>

<keybi nd key="S-C comm" >
<acti on nane="ShowMenu" >
<menu>r oot - nenu</ nenu>
</ action>
</ keybi nd>

<keybi nd key="C-9">
<action nane="Execute">
<conmand>/ d/ bat s/ r unumenu. sh</ conmand>
</ action>
</ keybi nd>

<keybi nd key="S- C- space">
<acti on nanme="GoToDeskt op" >
<t o>up</t o>
</ action>
</ keybi nd>
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<keybi nd key="S-C1|">
<action nanme="CGoToDeskt op">
<to>right</to>
<wr ap>no</ w ap>
</ action>
</ keybi nd>

<keybi nd key="S-C-h">
<action name="GoToDeskt op">
<to>left</to>
<wr ap>no</ wr ap>
</ action>
</ keybi nd>

<keybi nd key="A-1">
<acti on nanme="GoToDeskt op" >
<t o>1</t o>
</ action>
</ keybi nd>

<keybi nd key="A-2">
<acti on nanme="GoToDeskt op" >
<t 0>2</t 0>
</ action>
</ keybi nd>

<keybi nd key="A-3">
<acti on nanme="GoToDeskt op" >
<t 0>3</t 0>
</ action>
</ keybi nd>

<keybi nd key="A-4">
<acti on nanme="GoToDeskt op" >
<t 0>4</t 0>
</ action>
</ keybi nd>
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<keybi nd key="A-5">
<action nanme="CGoToDeskt op">
<t 0>5</t o>
</ action>
</ keybi nd>

<keybi nd key="A-6">
<action nanme="GoToDeskt op">
<t 0>6</t 0>
</ action>
</ keybi nd>

<keybi nd key="A-7">
<action nanme="GoToDeskt op">
<to>7</to>
</ action>
</ keybi nd>

<keybi nd key="A-8">
<action nanme="GoToDeskt op">
<t 0>8</t o>
</ action>
</ keybi nd>

<keybi nd key="A-9">
<action name="GoToDeskt op">
<t 0>9</t 0>
</ action>
</ keybi nd>

<keybi nd key="S C 1">
<action nanme="SendToDeskt op"
<t o>1</t o>
<f ol | ow>no</fol |l ow>
</ action>
</ keybi nd>
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<keybi nd key="S- C 2">
<action nanme="SendToDeskt op" >
<t 0>2</t 0>
<f ol | ow>no</fol |l ow>
</ action>
</ keybi nd>

<keybi nd key="S-C-3">
<action nanme="SendToDeskt op" >
<t 0>3</to>
<f ol | ow>no</fol | ow>
</ action>
</ keybi nd>

<keybi nd key="S-C-4">
<acti on nane="SendToDeskt op" >
<t 0>4</t o>
<f ol | ow>no</ f ol | ow>
</action>
</ keybi nd>

<keybi nd key="S-C5">
<action nanme="SendToDeskt op" >
<t 0>5</t 0>
<f ol | ow>no</fol |l ow>
</ action>
</ keybi nd>

<keybi nd key="S-C-6">
<action nanme="SendToDeskt op" >
<t 0>6</t 0>
<f ol | ow>no</fol | ow>
</ action>
</ keybi nd>

<keybi nd key="S-C 7">
<acti on nane="SendToDeskt op" >
<t 0>7</t o>
<f ol | ow>no</ f ol | ow>
</action>
</ keybi nd>
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<keybi nd key="S-C-8">
<action nanme="SendToDeskt op" >
<t 0>8</t 0>
<f ol | ow>no</fol |l ow>
</ action>
</ keybi nd>

<keybi nd key="S-C-9">
<action nanme="SendToDeskt op" >
<t 0>9</t 0>
<f ol | ow>no</fol | ow>
</ action>
</ keybi nd>



